Chapter 6 Review Name:

1. If r(t)=¢" for >0, what is the formula for ()= r(r—2)?

A sy=¢ JEE
B) s(f)=c¢' -2

C) s(ry=e™?

D) s(ry=e +2

2. If f(x)=4x>+4x and g(x)= f(x—2), whatis g(0)? 5
9(0) = £(0-2) Ll-2) = 4(-2) +46C2)
= F(2) “ ¥ oF
= /6-¥F
N 4

3. Find the domain and range of /i(x) = 47,
A) 0<x<ow, 7T<h(x)<w tup"? Domasin: all veals
@ —c<x<we, T<h(x)<% /ﬂmjg: 327
C) —w<x<x, 0<h(x)<7
D) O<x<w, 0<h(x)<7
E) 0Lx<7, —wLh(x)<ew

4. The graph of g(x) contains the point (-2, 5). Which formula for a translation of g has a
graph containing the point (1, 9)?
@A) g(x-3)+4 Kigps Thrte, up ¥
B) g(x+3)-4
C) g(x-1)+9
D) g(x+1)-9

5. Sketch the graph of f(x)=|x—3|+2
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6. The following table gives some values for the function /(x) . If /1(x) has even symmetry,
what is h(3)? (/‘S'am@ .&f [;{l;)) — 7 ffect Geross 7»41):} £
X -3 -2 -1 0

h(x) 0 -8 3 -3
/77

7. The graph of P(f) contains the point (5, —5). What is the corresponding point on the
graph if P(f) is an odd function? Aefpect abess ocisin = (-5,5)
(x and 3 PR )

8. The graph of f(x) contains the point (2, 4). What point must lie on the reflected graph if
the graph is reflected about the x-axis? K-vValut Vemains The sa me, Y- value changt?

{a,¥)
9. If the following is the graph of f(x).

FY

2>
5]
I
s

; . g )[/ cJ[l'dh-—/)
Sketch the graph of —f(x).  Kelleet chowt X -akis (/uwf eaf refle 2

10. The domain of f(x)is —2 <x <5 and the range is —4 < f(x) <3. What is the domain and
range of =2 f(x) ?

» Bt T =2A NE S
Verrical STrgTey SF 2 : _
Rarrecrion) Véarrredicf Acmsst X-A¥/S /emj e’ ~L= pfk} &
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11. Let f(x)==-2 \*2 +3. Write a formula for the following transformations of /.

A) g(x)=2f(x) B) B)h(\ —.)f(\gl C.) m(> )an(\)%—i
14_{/--',2}-\(—?,‘\ (,( .i) x*"‘} _-lff }'),:-1’ %J?Lj
Glx)= ~ & x>et 3("’4{/”3"2'1'*“‘}"‘3) Ax - +¥

o . 3 (~z2x +4%¥x -2 4 3) 5 2
g (- 2xt+4% +1) m(x)= ax” +|

h(x)=6x*+12X+3
12. The amount of money in your bank account is given by /(). Which of the following

formulas matches the description "$140 more than I have in my bank account™?
(A)) ¥(1)+140

&)+
B) F(r+140) ¢— V(€D +ido
C) 140V (z) ¥(r+140) )
D) f’(r*l‘lo) kﬂ(&»m& ag,aa«.nn,\.v'}f :;,\ ba‘_,k_ df;d;'_ﬁ&%-r.ﬂ;" ‘lk['o ,j_cpar_g ﬂq_4-e(

13.
The graphs of fand g are shown below.

L s }_
!Azrff(a/e:a»»,a/fﬂfd» SF of 2

Which of the following gives a formula for g(x) in terms of f{x) ?

(B gx)=~ 1(x)

B) g(x)=2/(x)
C) g(x)=flx-2)
D) g(x)= f(x)+2



14. Let?2 and 5 be the zeros of the quadratic function f(x). What are the zeros of the

function g(x)= f(-2x)? ~ .- )

A) 2 g i X—2=o0 X-5 = e

B) 5 Hon zoutal Compelan_ 5 5 _ 2 = o e T
€)1 SF oF L and ichet - S
c;" 95 Lu:zvufalﬂr Geross —Zx= = =
E)_4 3’61’“.; n= X= ¥

F) -10 (2,0) (5,2
([lo) (}.s}d}
(-1,0) (-2-50)
15.
The graphs of f and g are shown at the right.

i ¥

Uizt stetch SF Z

C//ua/xg//wu /s g’:)

Which of the following gives a formula for g(x) in terms of f(x) ?

(R) g(x)—.f'(%”_}
B) ¢(x)=f(2)
0 g(0)=1 /()

D) g(x)=2f(x)

16. The domain of f(x)is —16 < x <16 and the range is 0 < f(x)<11. What is the domain
and range of g(x) = F(—4x)? Hoiiokl conspression SF % and horombat

ﬂma.',._,- “¥=x e % 7e HlecFion ac/of;f § Bao x/ g J
Honge : 0 2 Hx) €4 (ot ity X by and 1 (7))

17. Let ¥ = f(im) be the value of an investment . months after the account was open.
Write an expression that represents the value of the investment increased by 15%.

V= frs o)
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18. Let g(x)= L} Which of the following formulas transforms the graph of g by shifting it

X VERTICAEC (EFLEECT VIV
7 units to the right, reflecting it about the x-axis, and then shifting it up 3 units?
1

(ap3- -
- (x_ 7)_
1
3+ (x=7)
C) .
3=(x=T)"
D) 3-—
() -7

19. The point (2.—38) lies on the graph of /. Ifthe graph of f is compressed vertically by a
I ; . .
factor of A and stretched horizontally by a factor of 11, what point must lie on the
2 . \ 3
transformed graph? {g - g_ / mutliply o by - ,3{

-

( q’l'ﬁf (3 ) /“tr‘l ;eﬁ'("t;j? A ;—/‘/’j [’

ot @ﬁwf?‘, Coms’
20. Let f(x)=¢". Which of the following could describe how the function g(x) :}7566(_\-_3. aig s” Y6
transforms the graph of f* ? (More than one will apply.)  tuzricar srered W /wrwmgwf
SAT

/7 ; ; 1 . .
(A) The graph of f is compressed horizontally by a factor of o’ then shifted to the right

3 units and stretched vertically by a factor of 5.
B) The graph of f is shifted to the right 3 units, then compressed horizontally by a

factor of é and stretched vertically by a factor of 5.
C}' The graph of f is shifte 18 units to the right, and then compressed horizontally by a

ex-1I?

1 / alx)=5é T it ATE RUGHT IP ERIT
factor of — g stretcheod yesfieally by 5, 9¢ ASE TR & M plsil Sncs
6 y = ??A’gf;'n/ MO ZOw B COMN? =7 7 13

D) The graph of [ is stretched vertically by a factor of 5, and compressed horizontally

by a factor of ]6 ;
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21. Below is a graph of the function f(x). If you were to sketch a graph of
¥ =—f(x+1)+6, what point would the point (1.5, 0) correspond to?

Y TrnmiiAres & /[

Rereamr Verrieasy Aol X-ArE

Trr g § 2 ATE oF ¢

[-z,f}a) (Sub i 'ﬂ"-amX)
(_,JI;/‘,,) (/Muil-j Lj-r)
(-;.S‘,&) (addd ¢ 1o j)

22. The graph of a function f has been shifted down 3 un}ts, shifted 6 units to the right, and
then stretched vertically by a factor of 9, and 25l horizontally by a factor of 4.
The new graph is produced by a function g. Find a formula for g in terms of /.

g4(x)= F(x)- 3

90x)= Fx-¢) =3

900 = 9(F-) =3)
500= 9 (FG550) -3)
j{z{) = ?Afé"’é) il
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